
 

Ex
D Find x

x

51cm1
7
A 8.2cm B

Let BD y
In 0 ABD By Pythagoras 5.12 8.22 y

93.25 y
T93.25 y

ye 9.6566 cm

In OBCD Sci fi
sin770 9 9.6566

x x

x sin770 9.6566

K 9 6566 I 9.91 cm

sin 770
x 9.9cm

Problem Solving in Trigonometry



Ex I find a

y In 0 BCD tan of
64 tan 610 9

A 5 3cm B 2 4cmC 2.4
2 4tan61 y
3 4.3297

In 0 Acc

By Pythagoras 7.72 4.32972 22
78.0363 5

2

2C 8.83cm

D

Find ACEx 3 4
400

A B y c

Ind ABD 1h0BCD
tan 230 4.32

ta 400 4 32K y
e fan230 4.32 y fan400 4.32
x 4.32 y 4.32

Ea 230 tan400

K 10.18in YI 5.15in

Ac d t y 10.18 5.15 15.33 m

AC 15.3 m



Ex 4 Find a
jar n

a
Y G t 82 Pythagoras

g oo

too x
K I 10cm6cm

10 t 52 y
125 y sin E

H
y t
y 11.18cm sin 0 311.18

sin

o
0 15 G

Ex 5 Find Oc sin I

4 H

sin340 2L 18.4

z µ 18.45in340
a 10.289 cm

sin f
since 10.289

To

O sin 1022082

G 30.960
O



Homework
Find a

23in Pythagoras X t 112 232
Ilm 22 232 112le7 X 408w

x 1408 20.20m

no 20.207

D tan 20.720

A 70.9

Find x
for K

2 sin 200 b
10cm 18

18sin20 y

T 6.156

Pythagoras

6 1562 102 I
137.896 x

x T137.896
x 11.7cm


